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DEFENCE & STRATEGIC STUDIES
Paper — 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All
questions are compulsory.

1. Which one of the following was the major source of Chandra Gupta’s military
administration ?

(1) Indica (2) Arthashastra
(3) Fa-Hien’s account (4) Thirukkural

2. Who among the following is known as Machiavelli of India ?
(1) Chandra Gupta Maurya (2) Ashok the Great
(3) Samudra Gupta (4) Kautilya

3. Match the following theories in the List-I given below with their proponents in the List-11
and use the code below :

List—1 List —I1I
(Theories) (Proponents)
(@) Atomic Theory (i) Albert Einstein
(b) Realist Theory (it) John Dalton
(c) Relativity Theory (iii) S. Freud
(d) Psychoanalysis Theory  (iv) Hans. J. Morganthan

Codes :

(@ (b) (o) (d)
1 Gy () (v) ()
(2 (i) (v) (i) (i)
@) (v) (i) (1) (i)
4) (@) (i) (i) (iv)

4.  For realists, power is considered as one of the following :
(1) Power is based on economic strength.
(2) Power is a irrational concept.
(3) Power is a ambiguous concept.

(4) Power is arelational as well as a relative concept.
Paper-I1 2 J-11-16
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5. The concept of “One for All, All for One” relates to which one of the following models of
international security :

(1) Democratic peace (2) Collective security
(3) World government (4) Disarmed world

6.  Which one of the following is not considered as the element of national power ?
(1) National will (2) Territory
(3) Population (4) Policy Prescriptions

7. Who among the following thinkers stated that “Non-alignment is the third Bloc” ?
(1) J.L. Nehru (2) H. Kissinger
(3) M. Breacher (4) K.P.Mishra

8. Who among the following thinkers stated that “National Security is relative freedom from
harmful threats” ?

(1) I Bellany (2) J.Mroz
(3) H. Kissinger (4) A. Wolfers

9.  The provisions, deployment and use of military resources in a given strategic environment
can be encapsulated as which one of the following ?

(1) Military Alliance (2) Defence Policy
(3) Strategic Doctrine (4) Strategic partnership

10. “Security Community’ is referred to as one of the following :
(1) A group of states cooperate to manage their disputes and avoid war.

(2) A group of people who become integrated and within a territory develop a sense of
community.

(3) A group of states whose primary security concern link together closely.
(4) All of the options given are correct.

11.  Which one of the following strategic theories was propounded by Karlvon Clausewitz ?
(1) Push to the Utmost (2) Expending torrents
(3) Strategic paralysis (4) Massive Retaliation
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12.

13.

14.

15.

16.

Identify the correct code for the Assertion (A) and Reason (R) for the code given below :

Assertion (A) : Series of conflicts from the Balkans to Sri Lanka were resolved through
the use of force.

Reason (R) : Instead, in case of Karabakh conflict between Armenia & Azerbaijan, the
key determinants will be a balance of force and interest, which will not necessarily
lead to either a full unfreezing of the conflict or fall resolution of it.

Codes :

(1) Both (A) and (R) are correct, but (R) is not the comprehensive explanation of (A).
(2) Both (A) and (R) are not correct.

(3) (A)isnot correct but (R) is correct.

(4) (A)is correct but (R) is not correct.

Which among the following are the conflicting parties in the Nagorno — Karabakh
conflict ?

(1) Armenia— Azerbaijan (2) Georgia— Russia
(3) Ukraine — Russia (4) Aczerbaijan — Russia

Arrange the following events in their correct chronological order and use the code given
below :

. The land boundary agreement between India & Bangladesh.
Il.  SAARC Agreement on Trade in Services (SATIS)

I11.  New Delhi grant of most favoured nation status to Pakistan.
IV. Pakistan & India joined Shanghai co-operation organization.

Codes :
@ v (2 LIV
3 wmnuLLiv 4) HuLIv I

Which one of the following is not a Chinese initiative in the changing geo-political and
geo-strategic architecture of the world ?

(1) String of Pearls (2) New Silk route
(3) Maritime Silk Road (4) Development for business partnership

Who among the following, defined war as “organized violence carried on by political
units against each other” ?

(1) Hedley Bull (2) Quincy Wright
(3) Carl Von Clausewitz (4) Raymond Aron

Paper-I1 6 J-11-16



12.

13.

14.

15.

16.

T fu Tw efiverer (A) 3R % (R) % Tel $ ! Ted I

AWFHYT (A) : AT F TN F SIRT Aesh 90 T T STl I H 3P ol Bl GHTE
IERIRICI

o (R) : 3% IO SR T SRS % S HRETE Fod 3 e § g FrefRep-ared v et
I T o, NTaY 3Tevash el ¢ o W QUReY €T ST a7 T 07 FHEM EAT |

FT:

(1) (A) 3R (R) 31 W&l & W (R), (A) F THIfe =17 el & |

(2) (A) 3R (R) I &l F&T & |

() (AT E W(R)TEE |

(4) (A)WE W(R) T TEIE |

ANTHT — HRENE G4 1 efoiiad § 9 ¥ wER-foxie e § 2
(1) SRR — ST (2) Sifemr - &
3) 1 -TH (4) RIS — &

AT TIeTeT T el HIeTshA | IR HITSTT SR F 2 T TN HifTT
I 9RA SR SRS & o -G FHeiar |
[I. e & H AR W a1 qagiar (SATIS) |

. =2 fooot R IIihed™ &l “HIE here A9’ hl g1 a1 ST |
V. UIRE 3R 9RA ol IHETE TednT e | Yo |

T
OBRININRY @ 1LV
@) 1,111V ORRINVAIN

fareer o ageTd gU Y-S 3R -0 UReyd § Fifhd o & i =it 98et Tél & 2
(1) & 3w oo (2) = faess At
(3) umfs faesh Amt (4) =AUIRE AERRT & forw fowmr

it o ¥ o g5 &1 “TTITae Sohiedl 11 Th-§0Y & (965 Tiied f&dr fohd ST & &9 |
o femar & 2

(1) zsaraa (2) T T

(3) ISt T FeASIAS] (4) WsuA

J-11-16 7 Paper-I1



17.

18.

19.

20.

21.

Re-unification of Crimea with the Russian federation occurred in the year :
(1) 2014 (2) 2013
(3) 2012 (4) 2011

Code name of the Indo-French Naval exercise, which was held in 2002 at the coast of Goa
was one of the following :

(1) Varun-ll (2) Indra-ll
(3) Hope-II (4) Vijay-Il

Which one of the following is not associated with India-China regional economic
integration processes and regional institutional arrangements ?

(1) BRICS Bank 2) AlB
(3) BCIM 4) PV

Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : In a war of revolutionary character, Guerrilla operations are a necessary
part.

Reason (R) : Guerrilla warfare is in fact a form of warfare of non-conventional nature and
not a return to anarchy.

Codes :

(1) Both (A) and (R) are correct.

(2) (A)is correct but (R) is not correct.

(3) Both (A) and (R) are correct but (R) is not the correct explanation of (A).
(4) (A)isnot correct but (R) is correct.

Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : China intended to keep away India as member of East Asian Summit
(EAS). But India became a member, though it does not belong to East Asia.

Reason (R) : The ASEAN and Japan strongly supported India’s case to be a member of
the EAS.

Codes :

(1) (A) and (R) are true, but (R) is not the correct explanation of (A).
(2) (A)and (R) are true and (R) is the correct explanation of (A).

(3) (A)is false, but (R) is true.

(4) (A)is true, but (R) is false.
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22. Arrange the following international financial institutions according to their year of
establishment in ascending order and use the code given below :

(@ Group of Ten.

(b) Bank of International Settlement.
(c) Asian Development Bank.

(d) Nordic Investment Bank

Codes :
(1) (@), (b), (c), (d) (2) (c), (d), (b), ()
(3) (d), (c), (a), (b) 4) (b), (a), (c), (d)

23.  Which one of the following tactics relates to the Arab-Israel War of 1967 ?
(1) Steam Roller Tactics (2) Shock & Awe Tactics
(3) Blitzkrig (4) Web Defence

24. Match the following militant organisations in India given in List — | with their respective
states given in List — Il and use the codes given below :

List—1 List— 11
(Militant Organisations) (States)
@ TNV (1)  Manipur
(b) NSCN (i)  Assam
(c) ULFA (iii)  Tripura
(d) UNLF (iv) Nagaland

Codes :

@ ) (© (@
@ @ ) (i) (v)
(2 (v) (i) (i) ()
@) (i) (v) (i) ()
@) @) () (v) (iii)

25. Henderson Books Report is related to which one of the following ?
(1) India-China war of 1962 (2) Arab-Israel war of 1967
(3) Kargil war of 1999 (4) India-Pakistan war of 1965
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26.

27.

28.

29.

Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : During the cold war period, the prevailing western conception of
‘National Security’ gradually shifted to ‘International Security’.

Reason (R) : As cold war evolved towards the super power détente of 1970s, the
prevailing terminology was increasingly that of ‘International Security’.

Codes :

(1) Both (A) and (R) are correct, and (R) is the correct explanation of (A).
(2) (A)is correct, but (R) is not correct.

(3) Both (A) and (R) are not correct.

(4) (A)is not correct, but (R) is correct.

Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : A strong logistics system can provide support for fighting and winning the
modern war.

Reason (R) : Pushing ahead with logistics modernization will innovate the modes of
support, augment war reserves and meticulously organize supply and support.

Codes :

(1) Both (A) and (R) are correct.

(2) (A)is correct, but (R) is not always correct.
(3) (A) is always correct, but (R) is not correct.
(4) Both (A) and (R) are not correct.

Which one of the following is the oldest para-military force in India ?
(1) Border Security Force (2) Indo Tibetan Border Police
(3) Assam Rifles (4) Central Reserve Police Force

Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : Generally, Russia sees the USA as being largely focused on maintaining
its global dominance as it is being challenged by others. At the same time,
Americans are becoming more and more aware of their need to tackle domestic
problems.

Reason (R) : This situation creates a major dilemma for the US policy-makers, coupled
with the demand of major paradigm shift in a poly-centric word order.

Codes :

(1) Both (A) and (R) are correct.

(2) Both (A) and (R) are not correct.
(3) (A)is correct, but (R) is not correct.
(4) (A)isnot correct, but (R) is correct.
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30.

31.

32.

33.

34.

Who is Dolkun Isa ?

(1) A Pakistan based activist branded a terrorist by India.

(2) A German based Uyghur activist declared a terrorist by China.

(3) A South Korean based activist declared a terrorist by North Korea.
(4) A Sudanese based activist declared a terrorist by USA.

The main theme of the International Fleet Review 2016 held at Vishakapatnam (India) in
Feb., 2016 was which one of the following ?

(1) United through Oceans.

(2)  United to Fight Environment Pollution on Seas.

(3) United to Fight Sea Piracy.

(4) United to protect exclusive economic zone of a country.

‘South Asia Growth Quadrangle’ comprises :

(1) India, Sri Lanka, Afghanistan, Bangladesh.
(2) India, Pakistan, Afghanistan, Bhutan.

(3) India, Bangladesh, Nepal, Bhutan.

(4) India, Nepal, Sri Lanka and Bhutan.

As formulated by the Chinese Supreme leader Xi Jinping, “the new model of great power
relations” does not support which one of the following ?

(1) Free trade areas in the Asia-Pacific region.

(2) Creation of Silk Road Fund.

(3) Chinese Assertiveness in International Affairs.
(4) Partial Ban on New Silk Road Projects.

Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : The traditional mentality that land outweighs sea must be abandoned, and
substantial primacy has to be attached to managing the seas and oceans and
protecting maritime interests and rights.

Reason (R) : It is necessary for India to develop a modern maritime military force
structure commensurate with its National Security and development interests, and
participate in international maritime co-operation, so as to provide strategic support
for building itself into a maritime power.

Codes :

(1) (A)is correct, but (R) is not correct.
(2) (A)is not correct, but (R) is correct.
(3) Both (A) and (R) are correct.

(4) Both (A) and (R) are not correct.
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30.

31.

32.

33.

34.

Tk 81 i © 2

(1) OIRET | T8 TeT Ush Hishal [ST8 9RA o STcsharsl Sifd Y T ¢ |

(2) AT TE e U SAR Hrwdl, N = F Sdhars! S % 3@ € |

(3)  =TeToT I | & T&T Ueh Hrchd, T8 ST HIRAT = TThaTal ST Y T@1 € |
(4) geH H E T U Hha, S8 aRepr 7 Teharst =it & @ e |

TRt 2016 H TORTETIT=E (WR) H A ST At ST qHieT 2016 H Aot o feifnd
Y e ?

(1) TENErR & 9y ¥ S|

(2) THRT | TATeRUNE FEuUT A & feTw Fedfd

(3) TSI Sl Ah & eI et

(4) T o TameTe ST &1 Hf Tl & fofw Tenfd

TTRTOT TR ok TSt | IneeT &

(1) 9Rd, SficiehT, THMEAH, SR
(2) HRA, TR, ST, 2
(3) YR, SRS, HUTE, Y™

(4) 9RA, TS, el 3R g

Fated AT AT 9 AT §R Gaes Heriskal & Heet 1 94 uiqae it § 9 feaee
TH &l T ?

(1) TR - HeTd & | Yo AR &

(2) oo TS BT H TS

(3) I AHE § H 6 T

(4) % faoh Ts U@ T ST Hidey

i tfeper (A) 31X @ (R) & ToTT W&l e 1 =2 iy

afiemer (A) : 79 TRURS GIa S BieT & o e, T § 21 Tecyul €, 3 Qgui a1
TR, Tfseh SR 31X fedi i amfess mefHesdr <=1 g |

% (R) : WRA % AU 3Mavash ¢ o 98 Uh SMYHH Afah I5-901 6 el fasiad e, 5
TAH LT G 3R fahm fedi ol & § W@ SHET T e, SR SRS Qs
T ° 9EIERT Y, dlfch $H 310+ MU Tk -8 vIferT s & feTT Yoriferes del=
oot |5 |

ag—a:
1) (A WE A (R)TETEE 1 (2) (A)WWITRE R (R)TWE |
(3) (A) R (R) I W& | (4) (A) 3 (R) 31 Tel @i & |

J-11-16 15 Paper-I1



35.

36.

37.

38.

Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : The concept of military hotline implies direct communication between the
Director Generals of military operations of two states.

Reason (R) : Military operations are a form of confidence building measures that helps to
reduce tensions between two states.

Codes :

(1) (A)iscorrect, but (R) is incorrect.

(2) Both (A) and (R) are incorrect.

(3) (A)is correct and (R) is the correct explanation of (A).
(4) (A)isincorrectand (R) is correct.

The tiny pacific country of Marshal Islands has sued nine countries for which one of the
reasons ?

(1) Not fulfilling obligations to curb nuclear race.

(2) Not fulfilling obligations to curb terrorism.

(3) Not fulfilling obligations to curb sea-piracy.

(4) Not fulfilling obligations to curb religions extremism.

The concept of confidence building measures (CBMs) germinated in which one of the
following ?

(1) Helsinki Declaration

(2)  First meeting of Brund tland Commission
(3) First meeting of Canberra commission
(4) Lahore Declaration

Arrange the following events in their ascending chronological order and use the code
given below :
l. India’s declaration of its naval doctrine

Il.  Signing of Agreement between ONGC-Videsh Ltd (OVL) and Vietnam Oil & Gas
group (Petro Vietnam) for joint oil drilling in the Phu Kauh Basin in South China
Sea.

I11.  First ASEAN plus Eight Defence Ministers Meeting.
IV. First Raisina Dialogue in Delhi.

Codes :
@ LIV ) 111V,
(3) I, HIL 1,1V 4) LIV, L
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35.

36.

37.

38.

e T T e (A) 3T e (R) % foT Wt e i TE= ity

arfirmer (A) : fferedt glecmen sauron 1 o1 3 T % A= AT & HeTR eI %
em Garg € |

T (R) : &= aifqa favarg Fefor surah & U &9 | 8id &, ST &1 Iegi % s o HeW H 7Y
FAE |

HT:

1) (AT E RR) AT |

(2) (A) 3R (R) H 7o € |

(3) (A) Tl 3T (R), (A) H Tel == E |

(4) (A Ted € 3R (R) ToId & |

AT FUT & o W9Tid 397 = fetetad & & fohg SRt @ =i 399X JhaaT IR 67 § 2
(1) A EERT &g H Tk H FGed 7 [ HH |

(2) 3NAHAE I AHA T I T T FA W

(3) HYX T TrhSHI Uk H M [ 7 A T

(4) etep AfaaTg Ak T ST TR T HA W

faarg sETett & 3Tt (FaUH.) S TR Earad § 9 s iR g8 off 2
(1) @eient oo (2) oS STEN B Tet o
(3)  HSRT TN I Teedl I3 (4) TER =T

feAifeRd SreaTet ot S 3TRIE! HIeTsh B TS 31X A ST e 1 TanT &
I, YR gRT 310 Rt faegia st =ron

[I. % w3 St & - fogwr feafiee (OVL) 3R faaaam 3ieet Us 19 99 (Ut fomaam) 50
Aol < IR % F i SfGT T AT del TR & TR W ELdeR

1. 3nfEam (ASEAN) 31 311e T | i Tt 9ee
IV. feoott o Teett I ardr

ag—a:
@ L @) 1LV,
OIRRININY OERIINAN]
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30.

40.

41.

Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : In West Asia, Russia doesn’t have permanent allies, like Israel for the
United States.

Reason (R) : All Russian alignments are situational and conditional, serving primarily
Russia’s regional interests or its larger world order goals.

Codes :

(1) (A)is correct, but (R) is not correct.

(2) (A)isnot correct, but (R) is correct.

(3) Both (A) and (R) are correct, but (R) is a partial explanation of (A).
(4) Both (A) and (R) are not correct.

Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : Maintaining credible nuclear and conventional capabilities is essential,
not only for deterring Pakistani and Chinese military misadventures but also for
improving India’s overall bargaining position in border settlement talks with both
Pakistan and China.

Reason (R) : It will raise India’s strategic vision and attitude to create a situational
strategic parity vis-a-vis Pakistan and China in due course of time in a terrorist
prone environment.

Codes :
(1) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).

(2) Both (A) and (R) are not correct in the contemporary scenario or in the years to
come.

(3) (A)is correct, but (R) is not correct.
(4) (A)isnot correct, but (R) is correct.

Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : India has individual liberty, political pluralism, and the institutional
framework to take advantage of globalization.

Reason (R) : In spite of the concentrated outsourced services and R & D facilities in
India, China has become the hub of manufacturing due to its industrial strength,
infrastructure and vast pool of skilled labour.

Codes :

(1) Both (A) and (R) are correct.

(2) Both (A) and (R) are not correct.
(3) (A)is correct, but (R) is not correct.

(4) (A)isnot correct, but (R) is correct.
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39.

40.

41.

i iR (A) 3R @ (R) & foTT et e ol e e

ATHHY (A) : UTv=H TR § TF I B IR 7 6 €, Y SR & o7 TR/ € |

% (R) : 9 & T oy ferfds= iR vaqel €, S wmeiis &9 § §9 % &6 &t o fave
T | 39 9% A & fold T M E |

% :

(1) (A)TE W(R) T TRIT |

(2) (A) Tel =& T, oifeR (R) W& & |

(3) (A) 3R (R) I Wl &, Ak (R), (A) i ST AR Al & |

(4) (A) 3R (R) 3 & H&t T € |

T 5w T etfirerer (A) 3R % (R) % Tel $ P! Ted BT

AfHHY (A) : fava-g TMTRR 3T TRERe &T9ard = heet TRt Ta =t A gemed
i U & [T 2Megeh €, Sk TR U == o {1 HAT foers o qHree deadt anar
o WRA R YO ST e 6 goy fefa (SRaf aistier) & foe ot aifd-emeawas & |

TF (R) : 309 9RA & SN GREhivT T TR Sl 8T SR STshaTs-HeuT aTdmerol | 37 a6l
T | R I T Td 9 & A1 U (e quies St Gl a9+ 1 w4 0eT
Uil

% :

(1) (A) 3R (R) 31 W&l &, W (R), (A) I el A& &1 € |

(2) (A) 3R (R) 31T Tramiaes gRfefaat a1 o ot oot & T o @6t T2l ¢ |

(3) (A)WIE W(R) T TRIT |

(4) (A) T TRE W(R)TIT |

T 5T T 3R (A) 3R @ (R) % el H2 Sl TEHH BT :

ATHHYT (A) : TRA H T STSATHIIT BT AN IS  [oTT SATFIT T, TSTHITToh Tgeras, ST
G S |

A% (R) : RA § Hi5d SRS WAl Ud Iy 9 6 (IR, U, SI.) FraEns & amesg =@i-
3T ST Ve, SramTd glaenat 31X Horer St & forenel IeT o HROT R I &l
FATE |

(1) (A)TE (R)IAI T |

(2) (A Td (R) IH W& &I € |
(3) (A)WIE W(R) T TRIT |
(4) (AT TE W(R)TIT |
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42.

43.

44,

45.

46.

47.

Which of the following aircraft is the air to air refueller of the Indian Air Force ?
(1) C-17 Globemaster (2) lyushin- 76

(3) Ilyushin-78 (4) C-130J Hercules

Which one of the following is India’s first indigenously developed nuclear powered

submarine ?
(1) INS Vikrant (2) INS Trikhand
(3) INS Arihant (4) INS Sindhurakshak

Which one of the following Labs of DRDO has developed Anti-thermal, anti laser smoke

grenade ?
(1) LASTEC (2) R&DE(E)
(3) DRDE (4) HEMRL

In the last one decade, which one among the following sectors has attracted the highest
foreign direct investment inflows into India ?

(1) Chemical Industries (2) Food Processing

(3) Agriculture (4) Telecommunication including service sector

Who among the following opined that “Economics is the Science of Wealth ?
(1) J.K. Mehta (2) Raghuram
(3) Adam Smith (4) Marshall

Which one of the following relates to the capability oriented approach to development,
which seeks to expand the range of things that people can do ?

(1) Human Security (2) Equal Security

(3) Human Development Index (4) Sustainable Development
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42.

43.

44,

45.

46.

47.

frfofad & & & o1 a9 IR a1 7 1 TaR-Z-UeR RReR (a1 9 ol | 67 SR arefl
famm) & 9

(1) 917 Telearex (2) A - 76
(3) <eifer - 78 (4) H-130 . TR

frfefad & | i dF YR S TR § faehiad ol 78 T2 IRT0] Sl =feld - gsl § 2
(1) T, fashia (2) oETATY e
(3) METATH. e (4) STETAEH. Y

SR EL.3M, i g TETIeT 3 -, o T Ue faehiad femar €
(1) TATTHAIE, (2) SR UETELE (F)
(3) TLIRTE (4) TIZUAIRTA,

fset T <9 ° Hefeiiad § 9 foq & 3 ura | gaiyes faeel uoger fHasr sidqate smmehiod
o g ?

(1) g S (2) @ T
(3) FH (4) STHOR, STEE gar & ot mieer € |

fre=ferfad o @ forem g faam =er fohan o T ol e9-sierd (Fmf) o fosm 87 2
(1) S, Hedr (2) ™
(3) usH iy (4) wT

freferfad & & o a1 fosrg & aR | emaiiygE! U ¥ Fetud &, ST ST =i o1 [aed) e

€, o =afod s T €2

(1) wre g (2) TEE HET

(3) WA faeh e gawhieh (4) ¥aq fowe
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48.

49.

50.

Which one of the following Indian Companies is not involved in joint venture hydro-
electric projects with Bhutan ?

(1) National Hydro-electric Power Corporation (NHPC)
(2) Satlaj Jal Vidyut Nigam (SJVN)
(3) Tehri Hydro-electric Development Corporation (THDC)

(4) UP State Industrial Development Corporation (UPSIDC)

Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : Cyberspace has become a new pillar of economic and social development,
and a new domain of national security.

Reason (R) : As international strategic competition in cyberspace has been turning
increasingly fiercer, quite a few countries are developing their cyber-space warfare
capabilities, including India.

Codes :

(1) Both (A) and (R) are correct.

(2) Both (A) and (R) are not correct.
(3) (A)is correct, but (R) is not correct.

(4) (A)isnot correct, but (R) is correct.

Among the following in the ascending chronological order and use the code given below :
l. First US-India strategic & Commercial Dialogue.

Il.  India’s Recognition of Israel.

I11. India’s Recognition of the State of Palestine.

IV. Third India — Africa Forum Summit.

Codes :
@ LIV (2 1L ULV,
(3) HIL IV, 11 4) IV, 1L
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48.

49.

50.

Tt o S T TR o e & T STefaRld TRESHIST & T SUsHH § IHeT &l € ?
(1) TET STeAferRd Sl (e (O, 0= b 4

(2) TSt STet ferRa 9 (TE.S AT

(3) feedt 5ot foege fory fvm (Sruwr e,

(4) TR U I Sirenten foemr e (@ W weee St )

iR tfyeper (A) 31X @ (R) & T et e =l Tea L |

AU (A) ; TER T D 3R TSR (oI T Teh 797 T 5 b1 & 31T T GRaT
T T 4T &7 |

T (R) : OEeR Y T IR I Tfiaiear S-S o @ W@ 8, TR 9ed 3 T
TIEeR g5 i 3T AT fTefad s @ & |

&

(1) (A) 3R (R)SH & E |

2) (A) 3R (R) I ToId & |

(3) (A) el &, wife (R) Wl Tl & |

(4 (AT FE W(R)TE |

TAAifeRe T STRIET SHTeThy | Sarerd s 31i¥ e T % T W
I, Teell SERE - IRA WOHITaE T anurges ardr

[I.  9RA §RI S Sl =l

. 9RA gRT =T T8 bt J=ar

IV. RA 3TRIN BRA &I T e ardr

ORNIRIEY; ) 1L 1LV,
@3) LIV, 11 OB YANINII
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